Varied Fluency
Adding Money

Developing
1a. £3 and 10p + £2 and 50p = £5 and é0p,

as shown on the number line below:
£3and 10p +| £2and 50p |=| £5and é0p

40p £2and 10p

£3 ar!ld 10p £3 clLd 50p
2a. £5 and 30p + £1 and 20p = £6 and 50p
3a. £3 and 20p + £1 and é0p = £4 and 80p
da. A. £8 and 30p; B. £4 and 55p

Expected
5a.£6 and 70p + £1 and 80p = £8 and 50p

éa. £8 and 5p
7a0.£2 and 99p + £6 and 31p = £9 and 30p
8a. A. £7 and 95p; B. £6 and é8p

Greater Depth
9a. £7 and 29p + £5 and 59%p = £12 and

88p, as shown on the number line below:

729p + [E5and 59p| = |£12 and 88p
7p £4 and 88p
I | |
[Foime] [ ]

10a. £9 and 98p + £4 and 5ép = £14 and
54p

11a. Total contents of purse 1 = £13 and
62p; total contents of purse 2 = £5 and 77p
£13 and 62p + £5and 77p = £19 and 3%p
120. A.£11 and 90p + £3 and 79p = £15
and é9p; B. £12 and 2p

Varied Fluency
Adding Money

Developing
1b. £2 and 40p + £3 and 30p = £5 and 70p,

as shown on the number line below:
£2and 40p +| £3and 30p (=| £5and 70p

10p £3 and 20p

| I I
£2 and 40p £2 and 50p
2b. £2 and 60p + £46 and 10p = £8 and 70p
3b. £3 and 20p + £2 and 70p = £5 and 90p
4db. A. £5 and 70p; B. £6 and 30p

Expected
5b. £2 and 45p + £3 and 80p = £6 and 25p

éb.£7 and 15p
7b. £5 and 25p + £2 and 85p = £8 and 10p
8b. A. £5 and 30p; B. £8 and 75p

Greater Depth
9b. 683p + £6 and 3p = £12 and 84p, as

shown on the number line below:

483p + |£6and 3p | = [£12 and 8ép

17p £5 and 8ép

I I
]
10b. £7 and 76p + £5 and 87p = £13 and
63p
11b. Total contents of purse 1 = £4 and
446p; total contents of purse 2 = £14 and
65p
f4and 4ép +£14 and 65p =£19 and 11p
12b. A. £16 and 91p; B. £7 and 19p + £4
and 72p = £11 and 91p



